'use strict';

/[Alexa SDK V1 -> const Alexa = require(‘alexa-sdk’);
//Alexa SDK V2 -> const Alexa = require(‘ask-sdk');

const Alexa = require('ask-sdk');

I[JSONT—%4
const seasoningData = |
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"IN¥3", "id": "sajiGram_01", "tableSpoon": "3", "teaSpoon": "1"},
"AL—#3", "id": "sajiGram_02", "tableSpoon": "6", "teaSpoon": "2"},
"RIZ", "id": "sajiGram_03", "tableSpoon": "6", "teaSpoon": "2"},

"$IZ", "id": "sajiGram_04", "tableSpoon": "6", "teaSpoon": "2"},
"a—k—", "id": "sajiGram_05", "tableSpoon": "6", "teaSpoon": "2"},

" F—X", "id": "sajiGram_06", "tableSpoon": "6", "teaSpoon": "2"},
"RAELZ)LY", "id": "sajiGram_07", "tableSpoon": "6", "teaSpoon": "2"},
"aa7", "id": "sajiGram_08", "tableSpoon": "6", "teaSpoon": "2"},
"A—2RA—F", "id": "sajiGram_09", "tableSpoon": "7", "teaSpoon": "2"},
"5 A1#2", "id": "sajiGram_10", "tableSpoon": "8", "teaSpoon": "3"},

"E A", "id" "sajiGram_11", "tableSpoon": "8", "teaSpoon": "3"},
"FEM", "id": "sajiGram_12", "tableSpoon": "8", "teaSpoon": "3"},
"R EALRAL", "id": "sajiGram_13", "tableSpoon": "8", "teaSpoon": "3"},
"EX", "id": "sajiGram_14", "tableSpoon": "9", "teaSpoon": "2"},

" EFr¥r", "id": "sajiGram_15", "tableSpoon": "9", "teaSpoon": "3"},
"E B #E", "id" "sajiGram_16", "tableSpoon": "9", "teaSpoon": "3"},

"I", "id": "sajiGram_17", "tableSpoon": "9", "teaSpoon": "3"},
"R—F 5 Y—4", "id": "sajiGram_18", "tableSpoon": "9", "teaSpoon": "3"},
"RSA 4 —XRL", "id": "sajiGram_19", "tableSpoon": "9", "teaSpoon": "3"},
"ESF ", "id": "sajiGram_20", "tableSpoon": "9", "teaSpoon": "3"},
"N—FJ =", "id": "sajiGram_21", "tableSpoon": "10", "teaSpoon": "3"},
"J'S5—a—%E", "id": "sajiGram_22", "tableSpoon": "13", "teaSpoon": "4"},
"EH8", "id" "sajiGram_23", "tableSpoon": "13", "teaSpoon": "4"},

"B —41)—L", "id": "sajiGram_24", "tableSpoon": "13", "teaSpoon": "4"},
"H", "id": "sajiGram_25", "tableSpoon": "14", "teaSpoon": "5"},
"T3R—X", "id": "sajiGram_26", "tableSpoon": "14", "teaSpoon": "5"},
"/NZ—", "id": "sajiGram_27", "tableSpoon": "14", "teaSpoon": "5"},

"JK", "id": "sajiGram_28", "tableSpoon": "15", "teaSpoon": "5"},

", "id": "sajiGram_29", "tableSpoon": "15", "teaSpoon": "5"},

"BE", "id": "sajiGram_30", "tableSpoon": "15", "teaSpoon": "5"},

"t=Lit", "id": "sajiGram_31", "tableSpoon": "15", "teaSpoon": "5"},

"H 2", "id": "sajiGram_32", "tableSpoon": "15", "teaSpoon": "5"},
"3—4JLK", "id": "sajiGram_33", "tableSpoon": "15", "teaSpoon": "5"},
"HH1)—L", "id": "sajiGram_34", "tableSpoon": "15", "teaSpoon": "5"},
"i8", "id": "sajiGram_35", "tableSpoon": "16", "teaSpoon": "5"},

"HYA", "id": "sajiGram_36", "tableSpoon": "17", "teaSpoon": "6"},
"EH", "id": "sajiGram_37", "tableSpoon": "17", "teaSpoon": "6"},



{ "value": "J—2R", "id": "sajiGram_38", "tableSpoon": "17", "teaSpoon": "6"},
{"value": "£5@", "id": "sajiGram_39", "tableSpoon": "17", "teaSpoon": "6"},

{ "value": "ERMZ", "id": "sajiGram_40", "tableSpoon": "18", "teaSpoon": "6"},
{"value": " F+yJ", "id": "sajiGram_41", "tableSpoon": "18", "teaSpoon": "6"},
{ "value": "#RZL", "id": "sajiGram_42", "tableSpoon": "20", "teaSpoon": "7"},
{"value": "+ L", "id": "sajiGram_43", "tableSpoon": "21", "teaSpoon": "7"},
{"value": "t&8%", "id": "sajiGram_44", "tableSpoon": "22", "teaSpoon": "7"},
{"value": "JK&R", "id": "sajiGram_45", "tableSpoon": "22", "teaSpoon": "7"}

I;

function supportsDisplay(handlerinput) {

var hasDisplay =
handlerinput.requestEnvelope.context &&
handlerinput.requestEnvelope.context.System &&
handlerinput.requestEnvelope.context.System.device &&
handlerInput.requestEnvelope.context.System.device.supportedinterfaces &&
handlerinput.requestEnvelope.context.System.device.supportedinterfaces.Display;

return hasDisplay;

}

const LaunchRequestHandler = {
canHandle(handlerlnput) {
return handlerinput.requestEnvelope.request.type === 'LaunchRequest’;
2
handle(handlerinput) {
const speechText = 'ELT T LTIANKITE, [EHIDKSITH ALV KB E S
Lo TLZEW, EDFRRMEHRASLET N ?

return handlerinput.responseBuilder
.speak(speechText)
.reprompt(speechText)
.getResponse();

}
|5

const orderSeasoning = {
canHandle(handlerlnput) {

return handlerlnput.requestEnvelope.request.type === 'IntentRequest'
&& handlerlnput.requestEnvelope.request.intent.name === 'orderSeasoning’;
|3
handle(handlerinput) {

const intent = handlerinput.requestEnvelope.request.intent;

let searchCheck = "";
let foodName ="";



let speechText = 'EfZorderSeasoning® 7 I 175 D TR IDLKFZELY,

var obj = intent.slots.seasoningList;
if('value' in obj){
searchCheck =
intent.slots.seasoningList.resolutions["resolutionsPerAuthority"][0]["status"]["code"];
if(searchCheck === "ER_SUCCESS_NO_MATCH"){
speechText = '3 AF A ZHDFAKRMEZFHINTOEGLN FIDEWVAT
BEREINTOAAIREEMNCEVET . EVAZEATHO>—EEBLTEoZAFET A |
lelse{
foodName =
intent.slots.seasoningList.resolutions["resolutionsPerAuthority"][0]["values"][0]["value"]["nam
']
for(var d in seasoningData ){
if(seasoningData[d].value === foodName){
speechText = foodName + 'D/PNELC—#%F, 5mllE
'+seasoningData[d].teaSpoon+'J 5 L., KEL—#F. 15mll'+seasoningData[d].tableSpoon+'
TILTY, RIFEDRAKBESTASLET N2,

break;

}

}
if (supportsDisplay(handlerinput)) {

const mylmage = new Alexa.ImageHelper()
.addimagelnstance(‘https://i.imgur.com/rpcYKDD.jpg")
.getlmage();

const primaryText = new Alexa.RichTextContentHelper()
withPrimaryText('7 AT A R T LA Ayt—")
.getTextContent();

handlerlnput.responseBuilder.addRenderTemplateDirective({
type: '‘BodyTemplate1’,

token: 'string’,

backButton: 'HIDDEN',

backgroundlmage: mylmage,

title: "Pizza Suggest",

textContent: primaryText,

;s

return handlerlnput.responseBuilder
.speak(speechText)



reprompt(RIZEFFART HFHAKKNHNIEE L2 TSN, RENEWNG S .
RETBRTULLET,)
.getResponse();

}
h

const ErrorHandler = {
canHandle() {
return true;
2
handle(handlerinput, error) {
return handlerlnput.responseBuilder
speak(T= LR HEF LA TLI £5—EH LT =EITETH. )
.getResponse();

exports.handler = Alexa.SkillBuilders.standard()
.addRequestHandlers(LaunchRequestHandler, orderSeasoning)
.addErrorHandlers(ErrorHandler) // 2tz 3B 50
Jambda();



